
 

 

The following scenario was presented at one of our regional hospitals. Determine how the woman’s G’s and P’s, 

(gravity = total number of pregnancies and her Parity = number of living children) were calculated. 
 
The woman is currently pregnant. She is a G8 P1. She has a history of 5 SABs.  First pregnancy was twins.  At about "7 months" (per 
pt.) the woman was assaulted the causing her to deliver at home, one stillborn and one live infant who died at 5 months.  She also 
has one other full term living child.  
 
 
Please complete the following: 

 

 

Pregnancy History 

Previous Live Births  Previous Spontaneous   Previous Induced  Total Prior   
    Terminations    Terminations  Pregnancies 
Now Living    Now Dead Less than 20 weeks   20 weeks or more 
None or Number None or Number None or Number   None or Number  None or Number  None or Number 
  ___    ___    ___      ___     ___     ___           
 

 


